Exercise No.8  Wen-Han Pang

Part B

Convert the original itemsets into: 

P1: {T1, T2, T3, T4}

P2: {T1, T6, T7, T8}

P3: {T1, T5, T6, T8}

P4: {T2, T3, T4, T8}

P5: {T1, T2, T7, T8}

P6: {T2, T3, T4, T8}

P7: {T1, T2, T4, T5, T7, T8}

From the frequent itemsets, find the one with item T3:

{T3, T2} – support count:  3 

{T3, T2} – support count:  3

So T2 and T4 are closest neighbors to T3,

Because 

T2: {P1,P4,P5,P6,P7}
T3: {P1,P4,P6}
T4: {P1,P4,P5,P6,P7} 

So recommended page is P5 and P7.  

